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X _ A _ X _ o 3w+8 4 3wH8 5 oL, _ 20,
g T=2%-T+7=2+T,%=9 12. 5 =255+ 2=25+2;3w + 8 = 50;
6% =69 x=54 3w48—8=50—8;3w= 423%:42—2,w—14
2. §f5:12§75+5,12+5,§:17 13, —52x — 6) 4 8x = 22; —10x + 30 4 8x = 22;
n (—10x + 8x) 4+ 30 = 22; —2x + 30 = 22;
3e3=3+1n=>5l1 —2x -8
—2x+30-30=22-30; 2x= -8 =5 =—;
3. 4+ 13=374+13 - 13=37—-13;4y =24; Y =4
Y_24.
4= 4= 14. 2n+3=8-2n+3-3=8-3;-2n=35;
—2n 5 5
5p—17 5p—7 —n_ S, 2
o 2= L4e0=4. P55 7, = 2’ 2
84 7= T4+ 15=5p =P 3 3 3 9=3;.
=P s 5_59 =p 15. 7:§t—2 2—§t—2+2,9:§t,
5 5.3,45
5. 8(y—5)+2y=—10;8 — 40 + 2y = —10; 3*9=3563 =615=1
(8y + 2y) — 40 = —10; 10y — 40 = —10;
10y 30 16. 21 =5n—-2(n—3);21 =5n—2n+ 6;21 =3n+ 6;
10y — 40 + 40 = —10 + 40; 10y = 30; 75~ = 10> 15 3
20— 6=3n+6—615=3n5=2"5=n
y=3 3 3
X _ X _ .
6 3P+ -Tp=183p+6-Tp=15 715 §—41 gl 4—15,—§——11,
—Ap+6—6=18 — 6, —4p = 12—5:%;

18. 16 — 3¢ =10;16 — 3¢ — 16 = 10; —3g = —6;
p=-3

_‘3q_;6 =2
3 =347
7. 95 +20=—16;9s + 20 — 20 = —16 — 20; 95 = —36;
9s _ =36, _ 4 19. 26m+3)—8m=410m+6 —8m=4;
9= 9 57T (10m — 8m) + 6 = 4: 2m + 6 = 4;
2m -2
8. L43=9Ll43-3-9-3L-65.L=5.¢ Im+6-6=4—062m=-27%"="5"m=-1
5 5 35 5
t=30 20, 12x—4=132;12x — 4 +4 =32+ 4; 12x = 36;
12x 36
9. Li1—10:24+12-12=10—122= 2, T T3
6 6 6
607:60(—2);)/:—12 3 s 3. s 1{_s 3. _ ¢
6 2. 5 25 = I;5 23 5=—-1-25; 457 6;
4.0 3N 4. oo
0. B+2Z-61B+2_13=6-132=—7, —g‘(—zs)——g (=6)s=38
4 4 4
A= Chim= 28 3("%) 3t 1
22, —4=6; —4=6;
n 4=H24, 35242 _ 2 2
S R 3 Al =6 sl
12-2:52+2—2;10=5,?—%,2— o
2( ; ) 2010;3—1=20;3—1+1=20+1;
=213 =2k =7
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23.

24.

25.

26.

27.

%+2:5.6;£+272:5.672;3—)6:3.6;

3 5 5
S5+ =5363x=18x=6
(@ P=2/+2w; P=2w+5) + 2w;
50 =2w + 10 + 2w; 50 = 2w + 2w) + 10;
50 =4w+ 10
(b) 50 = 4w + 10; 50 — 10 = 4w + 10 — 10; 40 = 4w,
40 _ 4w, .4 _
2= 4> 10=w
I=w+5,1=10+5;1=15
(0 The length is 15 ft and the width is 10 ft.
(@ P=2/42w; 54 =203w + 3) + 2w;

54 = 6w + 6 + 2w; 54 = (6w + 2w) + 6;
54=8w+6

b) 54=8w+6;54 —6=8w+ 6 — 6; 48 = 8w;
48 _ 8w . _
g = 8,67w

[=3w+3;1=36+3,1=18+3;1=21
(o) The length is 21 ft and the width is 6 ft.

(@) P =21+ 2w; 36 =21+ 2(2] — 12);
36 =21 + 4] — 24,36 = 6] — 24

(b) 36 = 6] — 24; 36 + 24 = 6] — 24 + 24;

_ - 00 _ 60 .0 _
60 = 6/, 6 = 6,IOfl
w=2[—12;w=210—12; w=20 — 12;
w=2_8

(o0 The length is 10 in. and the width is 8 in.

(@ P =2+ 2w; 150 =2(w — 7) + 2w;
36 =2w — 14 + 2w; 150 = 2w + 2w — 14;
150 = 4w — 14

(b) 150 = 4w — 14; 150 + 14 = 4w — 14 + 14;
gy 164 4w
164 = 4w, 4 = 4,41fw

Il=w—-T,1=41—-T7,1=34
(o) The length is 34 ft and the width is 41 ft.

28.

29.

30.

(@ w+t+v+t=24
w+ Ww—+2)+ 2w+ (w+ 2) =24
wH2w+ W+ 2)+ w+2)=24;
3w+ 2w + 2) = 24; 3w + 2w + 4 = 24;
Sw+4=24

(b) 5w+ 4 =24; 5w+ 4 — 4 =24 — 4; 5w = 20,
Sw_ 20,
5 5
t=w+2t=4+2;t=6
v=2w,v=2¢4,v=2_8

w=4

(o) Side 7 is 6 units long, side v is 8 units long, and
side w is 4 units long.

@x+y+z=16;2y +y+z=16;
2—4)+(z—4) +z= 16
2z—84z—4+4+z=16;
2z4+z+z—8—-4=16,4z—12=16

(b) 4z — 12 = 16; 4z — 12 + 12 = 16 + 12; 4z = 28;

y=z—4y=7-4y=3
x=2y;x=2+3;x=6

(c

-

Side x is 6 units long, side y is 3 units long, and
side z is 7 units long.

@a+b+c+c+b=6T,a+2b+ 2c=067,
a+2b+2(b—7)=6T,a+2b+2b— 14=067,
a+4b—14=6T,a+4+2a— 14 =67,
a+ 8a— 14 =67,9a — 14 = 67

(b) 9a — 14 = 67;9a — 14 + 14 = 67 + 14;
9a=8l;a=9
b=2a;b=2+9;b=18
c=b—T,c=18—T,c=11

(o) Side a is 9 cm long, side b is 18 cm long, and
side ¢ is 11 cm long.
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